[image: ]PEDIGREE ANALYSIS Pedigree 1


USE PEDIGREE 1 TO ANSWER THE FOLLOWING QUESTIONS.   SICKLE CELL ANEMIA IS AN AUTOSOMAL RECESSIVE TRAIT.  B=NORMAL BLOOD CELLS & b= SICKLE BLOOD CELLS.  THIS DISORDER CAUSES DEFECTIVE HEMOGLOBIN PROTEINS WHICH CARRY LESS OXYGEN TO THE BODY.  ONE OUT OF EVERY 500 AFRICAN AMERICANS HAS SICKLE CELL ANEMIA.


1. HOW MANY GENERATIONS ARE SHOWN IN PEDIGREE 1? _______________________
2. HOW MANY OFFSPRING DID THE PARENTS IN THE FIRST GENERATION HAVE? _________
3. WHAT DOES THE SQUARE IN GENERATION 1 STAND FOR? WHY IS IT NOT SHADED? ____
	_____________________________________________________________
4. WHICH OFFSPRING WAS THE FIRST IN THE FAMILY TO HAVE TH DISEASE? __________
5. HOW MANY OFFSPRING IN GENERATION 3 CARRY THE SICKLE CELL TRAIT? ___________


[image: ]USE PEDIGREE 2 TO ANSWER THE FOLLOWING QUESTIONS REGARDING HEMOPHILIA, A SEX-LINKED RECESSIVE DISORDER THAT AFFECTS ONE IN EVERY 10,000 WHITE MALES.  THIS DISORDER PRODUCES A DEFECTIVE PROTEIN THAT CAUSES THE BLOOD TO NOT CLOT.


6. HOW MANY MARRIAGES ARE SHOW IN THIS FIGURE? _________________________
7. WHAT WOULD BE THE PHENOTYPES OF ALL THE FULLY SHADED MALES? _____________
8. WHAT WOULD BE TH E GENOTYPES OF ALL THE FULLY SHADED INDIVIDUALS? _________
9. WHAT IS THE GENOTYPE OF A FEMALE CARRIER AND A HEMOPHILIAC FEMALE? ________
10. HEMOPHILIA IS A SEX-LINKED DISORDER.  IS IT CARRIED ON THE X OR THE Y CHROMOSOME? ___
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